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(2 + ) (3" +x+ 1) - 65 AL 3BHE?

@ (- 1)(x+2) (2 + 2+ 3)
® (x=-2)(x+1)(x*+x+3)

® (x+1)(x—2)(x* - x+3)

@ (x-1)(x+2)(x* +x-3)

@ (x-1)(x+2)(x* —x+3)

B

x? +x = X2t shat

(F4) =X(X+1)-6
=X’+X-6
=(X+3)(X-2)

=(x2+x+3) (2 +x-2)
=(x-1)(x+2)(x*> + x+ 3)




@ x+1

% TRHA 2 - 5x2 42 Q5HE) T 1), Lk 91471 opd

® x+2




22.

M3 44 = (24 x4+ 2) (P +ax+b) D W, AF @b
T-shelet,

> E:

> e -2

B

94

If
o

(F W) = (2 +2)2-x2

= (P +x+2)(x*-x+2)
ca=-1,b=2
sab=-1x2=-2




23. 2-2x—y? 422 QI5E

T
S}

ol SAEY (v -+ ay) (v - by + ) 7 ekt
w0+ b+ e G Folofet,
=

>
> HE: -4

B

X% —2x—y% +2y

= (x* =y*) = 2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x—by+c)
A4~ HlulotH

a:—l,b:—l,C:_Z
ratbte=-1-1-2=—-4




24. H= T Ao At EtEA] g2 Ae A 2W?

1-x)(1+x+x2)=1-x°

X2+ xy+92) (% = xy+3?) = x4+ 1%y + 4

a-b)(a+b)(a®+b*(a*+b*) =a®-b8

@@@

D (
@ (
) (x=3)(x =2)(x + 1) (x + 2) = x* = 8x* + 12
(
(

a+b-c)la-b+c)=a*-b*-c?+2bc

B

(r=3)(x=2)(x+1)(x+2)
=(x2-x-6)(x*-x-2)
2 —x=vet =2}
(Y-6)(Y-2)=Y2-8Y +12
=(x*-x)2-8(x%—x) + 12
=xt-2x3 - 7x? +8x+12




25. a=2004, b =2001% ©, a® - 3a*b + 3ab® - b* 2] G2

O 21 @ 23 ® 25 @27 ® 29

“(a-b)3=33=27




